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Section A

Answer two questions from this section.

1 Economic Activity and Change

(a) Use Fig. 1 to help describe the main features of the ‘just-in-time’ principle of manufacturing
and how they differ from more traditional methods of mass production.
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(b) Suggest in what ways ‘just-in-time’ manufacturing might lead to economic change.
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(c) With reference to one or more countries that you have studied, explain how inward investment
may change the economic activity at regional and national scales.

[Total: 30]
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Settlement Dynamics

(@) What are the possible concerns of the public shown by the survey in Fig. 2?
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(b) Explain how two of the planning issues in Fig. 2 may cause changes in settlements.
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(c) Forone or more examples of planning schemes that you have studied, suggest how successful
they have been.

[Total: 30]
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3 Population and Development

(a) Use Fig. 3 to describe the relationship between development and the status and role of
women.
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(b) Explain how changes in the status and role of women may influence fertility rates.
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(c) For one EU country and one LEDC, explain why population trends may differ.

[Total: 30]
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Section B

Answer one question.
EITHER

4 ‘Rapid population growth is the cause of all urban change’
To what extent is this true? [30]

OR

5 ‘Globalisation means that it is more difficult to classify countries as either LEDCs or MEDCs
How far do you agree with this statement? [30]

Essay Plan for Question 4 or Question 5

Question 4 or Question 5 (Circle your choice)
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If you use the following lined pages to complete the answers to any question, the question number
must be clearly shown.
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